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B S0} AS OY
SHol: SOtASOIFIIE A (Ere): & 2
_ _ pSNE e
SN - EH . S(3) - MRAY - BES Ofl &k 04 Sl aton HRz2
= 7,200
= 1,728
= 4,032
02 BIZtANE X 12,960 12,960 0
OSEHE0E ASE HEXE
1,200,0002 * 122 * 12 * 90/100 12,960
2 7,200
= 1,728
= 4,032
seHYAY 44,000 61,600 A17,600
2 26,400
= 8,800
= 8.800
307 Gl12told 44,000 61,600 217,600
= 26,400
= 8,800
= 8,800
02 2ItAAE X 44,000 61,600 217,600
OsQFYALYT
8,000,0008 * 11742 * 50/100 44,000
2 26,400
= 8,800
= 8.800
J2E2d NEX 365,225 1,062,000 AB96,775
= 255,657
= 36,523
= 73,045
301 et as 318,500 818,100 499,600
= 222,950
= 31,850
= 63,700
12 JIEtE o= 318,500 818,100 499,600
OERTEEE Y I IEL)
17020 * 100,000 17,000
= 11,900
= 1,700
= 3,400
OYUBHIEHNA(SALEE)
50& = 2,250,000m 112,500
= 78,750
= 11,250
= 22,500
O'10 FARHFNEMNE(OH3H =)
50& = 3,780,000m 189,000
= 132,300
= 18,900
= 37,800
307 GI12t0ld 46,725 243,900 A197,175
= 32,707
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HE: =0t AS O
Sl SOASOIFIIE RS (25 &2
_ - HEE =
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
10 BAAEI B A S 19,920 23,520 3,600
OB DS 4t 10,920
OYsTEHYYAL 50,0009 * 360! 1,800
OSHAHS 50,0009 * 189! 900
CEIESIEL! 140,008 = 9ol 1,260
OsooAnS 50,0002 * 330! 1,650
Oselol YA HAT AL
5,002 * 9021 * 23] 900
00l 70,0002 * 189! 1,260
047, HYSHSAQILE 50,0008 * 632 3,150
O=20F MIXI0R & AKX 28t
10,0008 * 902! 9,000
SUFWH DX 766,800 1,156,500 389,700
402 RIAX 20| 766,800 1,156,500 389,700
01 DIAX=EE 766,800 1,156,500 389,700
O=ZYHH DN
69,709,000.909% * 11581 766,800
SYEHL AMEE 3,920 3,920 0
202 04t 3,120 3,120 0
01 =2Uloib] 3,120 3,120 0
OHASY RS =X
124,802 * 50! * 53] 3,120
301 YBrBAE 800 800 0
08 ©I¥IZ 01t 800 800 0
O=AXSI ZHUAKX it
200,008 * 42! 800
A=Y 84,000 81,000 3,000
307 QI2H0|H 60,000 60,000 0
02 PIHBAEE 60,000 60,000 0
OF=HAZNA 400,008 * 128 = 12.59 60,000
402 RIAX20IH 24,000 21,000 3,000
01 PIRIZEE 24,000 21,000 3,000
OF=0t BIE42/Hl X 3,000,008 * 491 12,000
ONESIZASH X
300,008 * 8IHE * 5! 12,000
=MEEREOS TN 200,000 200,000 0
= 100,000
= 30,000
= 70,000
402 QIR 201 200,000 200,000 0
=l 100,000
= 30,000




SN

HH: 5 AS OF
Sl SOASOIFIIE RS (S5l &2
_ _ HE T
SN FHH S (3H) - HREAY - BES 0 Ak il i~ o Hnz2
= 70,000
01 BIZTEEE 200,000 200,000 0
OsM=EHEIS TN
200,000,0002 * 14} 200,000
3 100,000
= 30,000
2 70,000
=SX0I222XNH AL 27,045 0 27,045
= 27,045
101 24l 27,045 0 27,045
= 27,045
VBEDTEESEEPS 27,045 0 27,045
OSXO0IBB2IXIAY 54,6362 * 452 * 110 27,045
= 27,045
SHEZSHEA SHET 37,500 0 37,500
= 25,000
= 3,750
2 8,750
402 DIZHRHROIH 37,500 0 37,500
= 25,000
& 3,750
2 8,750
01 pIZXEEE 37,500 0 37,500
OSEISHEIA 2L
50,000,0008 * 194 * 75/100 37,500
=2 25,000
= 3,750
2 8,750
SE012 2YMUM N AR 2,960 0 12,960
= 4,333
2 8,627
307 QI2H0|H 12,960 0 12,960
= 4,333
2 8,627
02 PIABAEE 12,960 0 12,960
OSEHENS2SYHLINK
14,400,002 * 1704 * 90/100 2,960
= 4,333
2 8,627
=00l MO NIR 1,711,127 2,004,727 383,600
= 264,000
= 734,127
= 285,800
2 427,200
= 9101 01K H| X 528,000 900,000 A372,000
= 264,000
= 79,200
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Sl Selol MBI EEREED
_ _ HE T
SA BB H(BH) - MBAY - B2 Of) & o il i~ o HRs2
= 184,800
307 212H0I 528,000 900,000 A372,000
= 264,000
= 79,200
2 184,800
02 PIAFAEE 528,000 900,000 372,000
O=2l ol R0t 2T X &
131,343.282 * 33501 * 122 528,000
= 264,000
= 79,200
2 184,800
SQOIRHA S X2 X2 922,727 922,727 0
& 719,727
= 203,000
301 YA 922,727 922,727 0
= 719,727
= 203,000
02 He2USKIS 922,727 922,727 0
OSOIRAS X2 X &
85,437.685% * 902! * 128 922,727
= 719,727
= 203,000
=OIE0ITY 28,800 32,400 A3,600
= 14,400
= 3,600
2 10,800
402 QI TH=O0| A 28,800 32,400 A3,600
= 14,400
= 3,600
2 10,800
01 DIZHAEEE 28,800 32,400 A3,600
CEPI=EXI DI
900,0002 * 4021 * 80/100 28,800
= 14,400
= 3,600
2 10,800
EVERESIEE SOl 131,600 131,600 0
306 2013 131,600 131,600 0
01 502 131,600 131,600 0
OS0EREIIZ SUAY £013
131,600,0008 * 14! 131,600
ool BN 100,000 100,000 0
307 212H0I 100,000 100,000 0
06 282 100,000 100,000 0
O=X2 WHLEEs NLgs A
60,0002 * 1,041.65ha * 80/100 50,000
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Ha: =0} &S o

Ci9l: =IO MBOIETE (Sl #)
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
Osgol MASH2(AHBH) X
40,0009 * 2,500% * 50/100 50,000
ey DEBIM M 2,216,806 3,457,655 A1,240,849
2 20,000
= 237,502
2 1,959,304
MRS A D8I & 1,182,700 2,266,645 ~1,083,945
201 Yer2 YY) 8,400 2,100 6,300
01 AR eIt 2,100 2,100 0
OHEHE HIIYR 4+ M
70,0002 * 1504 1,050
OLHOIMNE &4 HZ 70,0002 « 1504 1,050
02 IT2YH| 6,300 0 6,300
ORSYSAYLFANY KRB0
1,50020 * 2904 * 122 5,220
ORI L 22 Z| 90,0002 * 122 1,080
301 LB A 1,174,300 2,174,320 £1,000,020
10 BAHAHI 2 A S 2,500 2,520 A20
OsELESI| HOIX Al
2,0008 * 62501 * 23 2,500
12 JIE2 N3 1,171,800 2,171,800 1,000,000
OH S28 ¥EZZ  2,1709 * 540,002 1,171,800
QOXNABE MATS X2 300,000 310,900 10,900
307 BI2HOIE 300,000 309,000 29,000
02 PIHAMBE 300,000 309,000 9,000
OZOINEBE MAZAS X
300,000,0008 * 14 300,000
SX2 HHSH2 698, 106 472,030 226,076
= 232,702
= 465,404
307 2120l 698, 106 472,030 226,076
= 232,702
= 465,404
06 283 698, 106 472,030 226,076
OSHESWHLEE X2
718,216.048 * 1,620ha * 60/100 698, 106
= 232,702
2 465,404
DEIMSHEASHNY 36,000 168, 750 £132,750
2 20,000
= 4,800
2 11,200
402 DI 0| 36,000 168, 750 A132,750
2 20,000




A HESESsH L
[¢]

HE: =} A5 O
el HEE DBIM M (e m9l)
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HIRZE2
= 4,800
2 1,200
IEEES 36,000 168,750 A132,750
ONBEM HNAYHK
20,000,000 * 294 * 90/100 36,000
2 20,000
= 4,800
2 11,200
NYRS HHES S4 2,354,600 613,500 1,741,100
2 2,201,100
7 2 153,500
YYIDAXEY 80,000 0 80,000
307 2120l 80,000 0 80,000
02 pIANBNBE 80,000 0 80,000
OYYHIUN =4 1,000,0008 * 80ha 80,000
<202 T B EF X Xl 2 37,500 37,500 0
307 BI2HOI 37,500 37,500 0
02 PIABAEE 37,500 37,500 0
Oe2lY WX £& 200,008 * 187.50a 37,500
=Hi22 WS 36,000 36,000 0
307 BI2HOI 36,000 36,000 0
02 PIANBAEE 36,000 36,000 0
O=tl22l HEESX =4
1,00020 * 72,000kg * 50/100 36,000
=ASIIBCY A 2,190,000 0 2,190,000
2 2,190,000
301 LB AI 2,190,000 0 2,190,000
2 2,190,000
12 JIEE A3 2,190,000 0 2,190,000
=ASIIE Os AlY
3,000,0002 * 730ha 2,190,000
2 2,190,000
ZAR AFL2IX HE 1,100 0 1,100
2 1,100
301 LHBAI 1,100 0 1,100
2 1,100
12 JIEH2 A3 11,100 0 1,100
OZA2 AIL2IXIMZEEl 30,0002 * 370na 1,100
2 11,100
S%IIHEET 160,640 432,930 A272,290
= 21,438
2 139,202
SorOIFAIB HYl 23 79,360 79,360 0
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SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o B2
< 11,904
2 67,456
206 T2 79,360 79,360 0
= 11,904
2 67,456
01 HEt| 79,360 79,360 0
OSAOFMAIS Y 22 40,0008 * 1,984% 79,360
= 11,904
2 67,456
ol A S| 49,500 49,500 0
402 Q12X 0|H 49,500 49,500 0
01 QARZRE 49,500 49,500 0
ORSZYHII X
3,000,000% * 33CH * 50/100 49,500
A2I| WYPLIN 31,780 29,070 2,710
= 9,534
2 22,246
402 Q12X 0|F 31,780 29,070 2,710
= 9,534
= 22,246
01 pIAX=EE 31,780 29,070 2,710
OS2I AHIY LN
113,500%0 * 28074 31,780
= 9,534
2 22,246
SONYIEH A 11,569,091 13,240,589 A1,671,498
= 11,542,422
| 23,059
= 1,083
2 2,527
BRZAYRE U 2| 23,059 29,235 76,176
| 23,059
201 Yereg| 23,059 29,235 £6,176
| 23,059
01 AtR2elt] 23,059 29,235 76,176
OnxEZAABE L SHY|
23,059,008 * 14! 23,059
| 23,059
BASBHEZR KL 11,534,000 13,198,067 ~1,664,067
= 11,534,000
301 LB AI 11,534,000 13, 198,067 ~1,664,067
=2 11,534,000
12 JIEt2 A 11,534,000 13, 198,067 ~1,664,067
OBASHAEXSHX A
689,672.98 * 16,723.87ha 11,534,000

_9_




SN
X XH .
S Tt

el

o

Al OH

— T

20
B
2

W
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H

8,500
5,950

765
1,785

10,000

A 1,500

M

8,500
5,950

765
1,785

10,000

A 1,500

500,000& = 17ha

W

8,500
8,500

5,950
765
1,785

10,000

1,500

W

3,532
2,472
318
742

3,287

245

202 Oddl

MW

3,532
2,472
318
742

3,287

245

3,532,000& * 14

W

3,532

3,532
2,472
318
742

3,287

245

W

1,600,759
1,371,619
52,335
176,805

254,700

1,346,059

Mok

209,340

52,335
157,005

234,900

A 25,560

Mk

209,340

52,335
157,005

234,900

A 25,560

300,000 = 1,163 * 60/100

EUNCH

209,340

209,340

52,335
157,005

234,900

A25,560

H

1,371,619
1,371,619

1,371,619

W

1,371,619
1,371,619

1,371,619
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SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
12 JIEHB A2 1,371,619 0 1,371,619
OABASANI NN
343,850.332 * 3,98%ha 1,371,619
2 1,371,619
HEdsy 23 U 22 X 19,800 19,800 0
201 L2y 9,000 9,000 0
01 AR eIl 9,000 9,000 0
OABASY YsAX MEH
2,008 * 2,250% 4,500
OEZN MMTX EXT HE
2,0008 * 2,250} 4,500
202 01t 1,800 1,800 0
01 2LfoiHl 1,800 1,800 0
ORST=ASH WX O
150,002 * 301 43| 1,800
301 LBBAI 9,000 9,000 0
10 BAAHIRAS 9,000 9,000 0
ONBPSY DIHAN 24
30,0002 * 4501 * 23] 2,700
OsHRSNE L BB AAS NP
90,0002 * 1] 900
Os20l MASY HAX Ast
30,0008 * 900! * 23l 5,400
HEAsly HE 10,922,795 2,773,061 ~1,850,266
2 3,096,563
z 2,000,000
= 1,557, 164
2 4,269,068
AEYSUOR E4 2,577,770 3,016,000 £438,230
= 773,330
2 1,804,440
301 LBBAI 2,577,770 3,016,000 £438,230
= 773,330
2 1,804,440
12 JIEHB A2 2,577,770 3,016,000 438,230
OASASAL N TH AL
929,931,458l * 2,772ha 2,577,770
= 773,330
2 1,804,440
ZEAH 2 (ELHLH) X 2,655,280 1,341,367 1,313,913
2 1,858,696
= 265,528
= 531,086
206 T2 2,655,280 1,341,367 1,313,913
2 1,858,696
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Sl HEASIIE HE (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
= 265,528
2 531,086
01 T2l 2,655,280 1,341,367 1,313,913
O EZHIR (ELMSH) X
135,204.43% * 19,639 2,655,280
2 1,858,696
= 265,528
2 531,086
AEZHE(RIF)NE 1,554,984 1,544,946 10,08
2 1,005,984
2 549,000
206 W2 1,554,984 1,544,946 10,038
2 1,005,984
2 549,000
01 T2 1,554,984 1,544,946 10,038
ORHAHIZ(RIIT) X
86,561. 12281 17,9645 1,554,984
2 1,005,984
2 549,000
ASFAHS SSTH X 313,000 291,350 21,650
301 LB A 250,000 228,350 21,650
12 JIER A3 250,000 228,350 21,650
OMNSIYUM BSNY
12,0002 * 27,777.7 4 * 60/100 200,000
OHisAl HIEZS 2220 X2
150,002/ * 333.33na 50,000
402 RIAX20IH 63,000 63,000 0
01 QIZTEBE 63,000 63,000 0
ORS%014 ASSI YK
2,000,002/ * 45ha * 70/100 63,000
REYM MUCT XA 732,500 732,510 A10
301 YLrBAE 697,500 697,510 A10
12 JIEHR A S 697,500 697,510 A10
ORSZMMMNERIZS 675,008 * 1,000 675,000
ORIls SHSMA M2UT £4
11,250,0008 * 272 22,500
402 RIAR20IH 35,000 35,000 0
01 PIATEBE 35,000 35,000 0
ORIls 0IPetX HMALEA
50,000,0008 * fha * 70/100 35,000
BB SYLIIX 2,480,000 0 2,480,000
z 2,000,000
= 480,000
402 QIR0 2,480,000 0 2,480,000
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HE: =0t AS O
Sl HEASIIE HE (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
3 2,000,000
= 480,000
01 pIZXEEE 2,480,000 0 2,480,000
OZAHSASAS =4
2,755,555,555% * 1Al * 90/100 2,480,000
=l 2,000,000
= 480,000
R4S SR 20,000 18,000 2,000
301 LBBAI 20,000 18,000 2,000
12 JIER A3 20,000 18,000 2,000
ORs5% S5 248 H2LE X
200,002 * 10021 20,000
=HIXNSE XA 463,766 1,150,148 686,382
= 231,883
2 231,883
206 2| 463,766 1,150, 148 686,382
=2 231,883
2 231,883
01 W&l 463,766 1,150, 148 686,382
O=HIZSENUXE 201,900.732 * 2,297ha 463,766
= 231,883
2 231,883
AHINEHASYSSHE DS 6,575 5,650 925
= 2,630
2 3,945
301 LPBAI 6,575 5,650 925
= 2,630
2 3,945
12 JIEt2 A2 6,575 5,650 925
OAHINEHHSBBSAE DR
39,969.52 * 3292 * 50/100 6,575
= 2,630
2 3,945
IS USTES AN 9,120 10,640 A1,520
= 2,736
2 6,384
201 LByl 9,120 0 9,120
= 2,736
2 6,384
01 Attt 9,120 0 9,120
OHBASAMES VESAAAXL
152,002 * 6021 9,120
= 2,736
2 6,384
2= ZRE X 46,800 0 46,800
= 14,040
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_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl Ak 04 il b o HRs2
= 32,760
307 2120/ H 46,800 0 46,800
= 14,040
2 32,760
06 282 46,800 0 46,800
ORJls Ze2d X
500,008 * 11721 * 80/100 46,800
= 14,040
2 32,760
AHDHE PS5 HELRK S 63,000 0 63,000
= 18,900
2 44,100
402 BAT 20| 63,000 0 63,000
= 18,900
2 44,100
01 UAEEE 63,000 0 63,000
OUHEDNE P HELHX
7,000,000 * 18ha * 50/100 63,000
= 18,900
2 44,100
S MA - REBR 3,476,130 4,818,505 A1,342,395
2 3,039
3 840,000
= 776,683
2 1,856,408
MRREANL IS B3 1,938,339 1,385,682 552,457
= 3,039
3 840,000
= 443,000
2 652,300
F=H| 2 3,089 2,562 457
2 3,089
202 01t 3,039 2,582 457
2 3,039
01 2U0ibl 3,039 2,582 457
og=@el EF0iH 3,039,0008 * 14! 3,039
2 3,039
SASDEIHUIXE 84,800 84,800 0
402 AT 20| 84,800 84,800 0
01 UAREEE 84,800 84,800 0
Os42 AXJ) X
2,400,00020 * 20CH * 50/100 24,000
OnZE HEI| X2
,900,0002 * 64CH * 50/100 60,800
HedsD 43K 60,000 60,000 0
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2N -3 - c2(3H) - NEME - HES Ol &F2H '@,‘;OH Hns
402 QIZ2tXH=01A 60,000 60,000
01 DIIR=EEX 60,000 60,000
MeMdMaED &x1 X
40,000,000€ * 3% * 50/100 60,000
22843 12 13,500 13,500
402 QIFXH=O0|H 13,500 13,500
01 DIZIRIEE X 13,500 13,500
FJoT? st THHOIE HEXA
1,000& * 27,0000 = 50/100 13,500
SIIIZAIZOISH 22X 2,000 2,000
[ 1,000
2 1,000
307 QI2t01 A 2,000 2,000 0
[ 1,000
o 1,000
02 QI2ZtZAB X 2,000 2,000 0
ORIIISASAUASKEH
2,500,0002 * 12HA * 80/100 2,000
[ 1,000
2 1,000
DSt SE X2 90,000 0 90,000
[ 20,000
z 70,000
402 QIZFXH=0|® 90,000 0 90,000
[ 20,000
Z 70,000
01 DIIREE=X 90,000 0 90,000
OftSHs BrEAMY X
100,000,0009 * 104 * 90/100 90,000
[ 20,000
o 70,000
APC A X & 1,680,000 1,178,000 502,000
= 840,000
[ 420,000
iy 420,000
402 QIZFXF=0|® 1,680,000 1,178,000 502,000
z 840,000
[ 420,000
2 420,000
01 DIZIRIEE =X 1,680,000 1,178,000 502,000
OAPC HAEXI&
2,800,000,000& * 124 = 60/100 1,680,000
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= 1,111,800
= 45,580
2 135,220
402 RIIX 20| 1,292,600 1,125,989 166,611
2 1,111,800
= 45,580
2 135,220
IESEEES 1,292,600 1,125,989 166,611
ONEHUNLIKIOIE &S5t
458,433,573% + 3.71ha * 76/100 1,292,600
2 1,111,800
= 45,580
2 135,220
AUSHAL |yt &5 257,120 165, 120 102,000
301 LB A 3,240 3,240 0
10 BAE 243 3,240 3,240 0
ORUSE0F SAADS OfY)
20,0002 * 18921 * 43l 1,440
ORI D23l HEXIZHS
100,0002! * 1821 * 13| 1,800
402 DIZHXIROIH 253,880 151,880 102,000
01 pIAX=EE 253,880 151,880 102,000
OHILBISANE WX
30,000,008 * 5ha * 50/100 75,000
Ol 5t AR OIS K & XX &
26,666,6662 * 3ha * 50/100 40,000
OZHs BERA HE2LIIN
20,0008 * 22074 * 70/100 33,880
OANESISA £ X &
14,000,00020 * 15ha * 50/100 105,000
£320 HAR H2HE MY 150,000 163,415 ~13,415
= 45,000
2 105,000
402 DIZHRIR O 150,000 163,415 £13,415
= 45,000
2 105,000
01 PIZXI=EE 150,000 163,415 £13,415
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23,076,923.0721 * 13ha * 50/100 150,000
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2 654, 150
DA SEE XY 280,000 308,000 28,000
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= 525,000
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OMAFHE= BAAE XA
1,000,000& * 12%ha * 50/100 64,500
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20,000,000& +* 8ha * 50/100 80,000
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SN EB .S (BH) - NSAY - BaS Abod 0l & o1 =
202 (4 Hl 7,749 7,749
01 =2WHdbI 7,749 7,749
SNRY BUNY
20,0002 * 521 % 77.49¢ 7,749
203 R F&d| 3,780 0
04 ENBILRFEH| 3,780 0
ORNSIHRFAH 315,000& * 12& 3,780
TESAIE Y23 Y| 11,859 18,159
201 L3I 6,359 12,659
01 AtR2t2ldl 6,359 6,359
olget=&dl] 3,119
ORAN2ZE SHAH A 3,119,000& * 14 3,119
O[=&l] 3,240
ORAN2ZE SHAHA
7,000& = 491 = 115,71 3,240
202 O Hl 5,500 5,500
01 =ZLHOA I 5,500 5,500
ORAM2ZE SHAH A
20,0003 * 49! = 68.75 5,500
SESOHHEE Y23 16,754 16,754
201 etgh| 5,954 5,954
01 AbR2t2|H| 5,954 5,954
olgetegdl] 3,119
ORNEZE SHH & 3,119,000& * 14 3,119
Ol=1=1:1) 2,835
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7,000& * 491 = 101.25¢! 2,835
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201 2EtE3| 5,400 5,400
01 AtR2t2ldl 5,400 5,400
Olgers=gHl] 2,700
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01 =ZLHOA I 5,400 5,400
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